Ki, Mobility

N
Clik / Rogue XP Height Adjustable Integrated Handle
@b, o
>
Qo
. B g
- .\\ : (fal‘d = |'F'9-‘I
i
@ U
N
o SR e
AN
@ 7 ey
:/j__s:r 4 _,r'Jl
L,
For Backrest heights of 13"-18" use short range kits, for Backrest heights of 15"-22" use tall range kits.
Item Number Part Number  Description Quantity
28,3425, 1122182 Upper Tube Assembly, Short, Right, 10-13W 1
Used with Short Range Integrated Stroller Handle
ﬁ" ‘I’:;lb’ > 122183 Upper Tube Assembly, Short, Right, 14-18W 1
Used with Short Range Integrated Stroller Handle
%g 3,4c, 5,11, 122184 Upper Tube Assembly, Short, Left, 10-13W 1
Used with Short Range Integrated Stroller Handle
2b,3,4d. 4. 1120185 Upper Tube Assembly, Short, Left, 14-18W 1
Used with Short Range Integrated Stroller Handle

04-08-2025




[tem Number  Part Number  Description Quantity
%g 3,4a, 5, 11, 122186 Upper Tube Assembly, Tall, Right, 10-13W 1
Used with Tall Range Integrated Stroller Handle
2¢.3,40.5, 111 120187 Upper Tube Assembly, Tall, Right, 14-18W 1
Used with Tall Range Integrated Stroller Handle
20.3.4¢,5 11,1 122188 Upper Tube Assembly, Tall, Left, 10-13W 1
Used with Tall Range Integrated Stroller Handle
2d, 3, 4d, 5,
1113 122189 Upper Tube Assembly, Tall, Left, 14-18W 1
Used with Tall Range Integrated Stroller Handle
la,7-11 122190 Lower Tube Assembly, Short 2
Used with Short Range Integrated Stroller Handle
1b, 7 -11 122191 Lower Tube Assembly, Tall 2
Used with Tall Range Integrated Stroller Handle
9-11 122192 Height Adjustable Hardware Assembly 2
6, 12 122193 Growth Strut Assembly 1
1a, 2a, 2b, 3, 122194 Height Adjustable Back Retrofit Assembly, Short, 1
4a, 4c,5- 13 10-13W
Used with Short Range Integrated Stroller Handle
1a, 2a, 2b, 3, 122195 Height Adjustable Back Retrofit Assembly, Short, 1
4b, 4¢c,5-13 14-18W
Used with Short Range Integrated Stroller Handle
1b, 2c¢, 2d, 3, 122196 Height Adjustable Back Retrofit Assembly, Tall, 1
4a, 4c¢,5- 13 10-13W
Used with Tall Range Integrated Stroller Handle
1b, 2c, 2d, 3, 122197 Height Adjustable Back Retrofit Assembly, Tall, 1
4b, 4d,5- 13 14-18W
Used with Tall Range Integrated Stroller Handle
2a, 13 122198 Upper Tube w/Rivnut, Short, Right 1
2b, 13 122199 Upper Tube w/Rivnut, Short, Left 1
2c, 13 122200 Upper Tube w/Rivnut, Tall, Right 1
2d, 13 122201 Upper Tube w/Rivnut, Tall, Left 1
4D, 5, 13 122202 Push Handle Assembly, Standard, Right 1
Used on Widths 14" - 18"
4d, 5, 13 122203 Push Handle Assembly, Standard, Left 1
Used on Widths 14" - 18"
4a, 5, 13 122204 Push Handle Assembly, Pediactric, Right 1
Used on Widths 10" - 13"
4c, 5, 13 122205 Push Handle Assembly, Pediactric, Left 1

Used on Widths 10" - 13"

04-08-2025




[tem Number  Part Number  Description Quantity
la 121860 Tube, Lower, HA Back, Short 2
1b 121861 Tube, Lower, HA Back, Tall 2
3 116066 Locking Hinge Assembly 2
5 001098 Foam Push Handle Tilt 2
6 002578 Growth Strut, Stroller, Short 1
7 001083 Bushing Height Adjustable Back Tilt 2
9 000987 Threaded Fastener 2
10 000988 Fastener Retainer 2
11 102799 M5 x 12, BHCS, BZ w/Patch 10
12 101843 M5 x 20 SHCS Blk Zn 2
16 000073 M5 x 24 Threaded Barrel 4
17 103524 M5 x 10 BTN SHCS BLK ZN 8

04-08-2025




